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3referat & fere srsiger /Instructions to the Candidates

1. 3T GaRT a9 H1AET H YEdd U 70 HieT-olgel 32T & 3MUR W 39T faf@a odam $ @
AT o arar &1 afe rael a3 (ol qyerer By areit wiafSe @Y ¥ o e & anraR s
NI LT TG & Tl Tt AT 3EdIhe T &) S|

You have been called for the written test based on the online data furnished by you in the web application. If
you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. 9A-97, 80 URAT § Yo YRA-GIREAH & ®U H § AR qdiem Hr 3@ 02 € ¥ |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test
is 02 hours.

3. AN fawedl AT ardfass yoR & wet gl et & R vk amifiew w7 & WEY Qv |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, 9cd® YT ST 04 3id gt 3R UAw 7169 3cak ST UF 3iF Fer e |

Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. 9% % 3ccR &1 AT @l wfer Afea sromer AR scaR-gReder & st

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
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You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

T T2 & ToIU 31e7h 3ca] ITeld HT=AT ST |
Multiple answers for a question will be regarded as wrong answer.

Wﬁmﬁﬂﬁﬁma—mwm.mmmgﬁaﬁrw%W$qu
IRECGIRIA|

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.-

ma-g%wﬁwmama@wﬁaﬁﬁ@
Enter your Name and Roll Number correctly in the question booklet.

ITHR 3l -gﬁmﬁaﬁqﬁﬁﬁﬁaﬁmﬁwﬁ%ﬁwqﬁﬁaﬁﬁ@rmﬁaﬁm
All entries in the OMR answer sheet should be with blue/black ball point pen only.

qﬂmﬁaﬁﬁﬂw@rmﬁﬁé’rmﬁaﬁwwmmmmmi
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
T-gEe, He M aet A Aefaia TE & SmwEtt]

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

a{&T U7 Bl R, HITHHR Seax-qeda & 59T & deet e & B I 7el AR
SeaR-u T Pders @ Hid g gad ufd 3He 9w

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

ToaT-g e 315t 319e) I W@ THA ¢ |
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The question booklet can be retained by the candidates.

e 3 g B & ekt 3eafeiat @ ofet g ovge 1 gAfd AR &
Candidates are not permitted to leave the examination hall during the first hour of the examination.
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dFhalh! HETIS — (Tifah) 9E F.1367/
TECHNICAL ASSISTANT (MECHANICAL) — POST NO. 1367

3o Fe gcf TehIT Aleh SRATTATEY FT 3G 3T ST &
Scotch yoke mechanism is used to generate

(a) widerAs/Inversions (b)  gF /Square roots
(c) egerR/Logarithms (d) ¥ H3/Sine functions

3T T 70T, T AR (K ) a7 3798907 Aies (G) @ra‘mg&m’sﬂ
Young’s Modulus, Bulk Modulus (K ) and Shear Modulus (G) are related by

_ K+G __9KG _ 9K+G _ K+6G
(@) E= 6K (b) T 3K+G () E= 6K (d) T 6K
9 AT Srerreft o for ygaret Al ———— @ aifiRe)
Materials used for thread rolling operations should be
(a) @=g/Ductile (b)  &x&/Ferrous
(c) zmaTday=a/Malleable (d)  39%d #J o s/ None of the above

et # wia-ar aeg sradhot i wror g 7

Which of the following is not a cause of weld spatter?

(@) ITerd Yaurd/ Wrong polarity

(b) < Hemal &1 3ufEufa/Presence of surface contaminants
(c) 3=adesd urR/High welding current

(d) 39T arc3it 1 qurar/Quality of consumables

T S IaR 0 Faqe-aRaer aderor 38/ ———— A=Y & e ora &

Open-circuit test on a transformer is to measure its

(@) ar&Ege/Copper loss (b)  a&worwfawra/Leakage reactance
(c) geaufasrn/Equivalent impedance (dy  #Ergf@/Core loss

HELIG| & FAmeT 8

Dow metal is an alloy of

(a) arar/Copper (by  H=NRTA/Magnesium

(¢) TUE/Zinc (d)  #ifesss®/Molybdenum

%ﬁwagﬂhmﬂmmmm%i

Mond process is used for extraction of -

- (a) a@m&r/Copper (b)  sEgTa/Steel
(c) fa/Nickel (d)  gfAfEEA/Aluminium
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10.

11.

1%,

R 3 fe@mr s/@r ere 1000 Nm & Ua R &l & fawg 100 rev/min 1 &X WX AT &
3 AT FH FA F AU ol aiFd ——— ©

A shaft shown in the figure rotates at a rate of 100 rev/min against a constant torque of 1000 Nm.
The power required to rotate the shaft is

System boundary
A\

T Bl

' %

i

T

} 0 ;"

; 0 ! \s

; 1

S —— B!
(@ 9.50kW (by  11.25kW
() 9.0kW (d) 10.47 kW
U &1 g T BN, 5 4T arST F F Fe-31fcdca (@arel T e iy wrr fefa FEd ol

The equilibrium state of a substance which co-exists in solid, liquid and vapour form at a single
point is called

(a) wifaen féig/Critical point (b)  Hqfea feig/Saturation point
(c) T f§g/Triple point (dy =13 & U sfrsigi/None of these

e T W AT TUT GHIA GedHTa & &l TN TSt T Ueh Frahe atferst Ao ov &1 Tr aran &1 3+ A Uah 3G 1
v &7 o & e g 3 o) R 1T | WETE & 4G 2l 316 —————————— 397 S A el

Two perfectly elastic spherical bodies of equal mass are at rest on a smooth horizontal table. One of
the balls is given-a velocity v and made to stick on the other ball. Both balls after the impact will
move with a velocity

@ v (b)

€ -V (d)

Ni<s <

T EfaETe f1-ECeTge a5k T e geTcH feveraor gt e
Number of minimum control points required to generate a quadratic B-spline curve

(@ 2 () 3
(c) 4 (d) 3
TCH 313 hI-TT 87
Which is a positive drive? ,
(@) wele dec grza/Flat belt drive (b) W3z dee 3sa/Round belt drive
(c) @Es aec zrsa/Crossed belt drive (d)  ef@Erdee/Timing belt
4 1367



13

14.

15.

16.

17.

18.

T G T 93 & FY YRS W IEAT F & I argeT U I §1 afe ag grel 1000 kef & me & diar § ar 39
et & oI 3rAfETd ~Yefcfat s ———————— &1 (T8 71 9% 3 afrer ot aories erdor 0.3 §1)

An elephant is stopped by a rope wound twice around the rough trunk of a tree. If the elephant
exerts a pull of 1000 kgf, the minimum force required to stop the elephant is

(Coefficient of friction between the rope and the tree is 0.3)

(@) 1000 kgf (b) 300 kgf

() 700 kgf (d) 23 kgf

frafafad # ¥ sla-dr v e A 2

Which of the following is a dimensionless quantity?

(@) y&Tias e@=ar/Kinematic Viscosity (b)  wlua/Porosity

(c) wiiar/Capacitance (d)y  wEIT geica/llluminance
FeA e waE F faarfas 1 39— F v Far s g

De-aerator in thermal power plants is used to

(@) wROT ST W faeist 3Tt & fAerre/Remove dissolved gases from feed water
(b)  YIROT ST T ATIHI A ¥t/ Reduce temperature of feed water

(c) UBROT ST &1 g1 A e/ Reduce pressure of feed water
(d) 3udwd & A F1$ 7E/None of the above

frel fpa e F v dad ————— &

Principal planes in a strained body are

(a) waAS IR HRATT I gad d@/Planes having maximum shear stress
(b) 9cxer ufdee & faar a@/Planes having no direct stress '

(c) 3IYFYUr gided & fo=ir ae1/Planes which have no shear stress

(d) 39dad # ¥ F§ A¢/None of the above

5 . @ U HiGt I U el SeateR daR § o @ ¢ 3R 3w W 7 e aw dar 3 A g ¥ A &
fore A o wetg o dfrer & EfoT T OTi fe g At
A 5 m long ladder is resting on a smooth vertical wall with its lower end 3m from the wall. What
should be the coefficient of friction between the ladder and the floor for equilibrium?

1 3 3

: 1
@ 3 ®) 3 © 3 @ 3
S HT AT A TH TAT & o Ueh #geelt ol & faw
Newton’s law of viscosity states that for a Newtonian Fluid, the
(a)  3rawavr gfdeel de1 & 3nmeifaia §1/Shear stress is proportional to Velocity
(b)  3roEIT YfAEe 39waoT ATy T 2T & 3MeTarfass 1/Shear stress is proportional to rate of shear strain
(c)  3INTEIUT YIIT eied & ITquricrs & 1/Shear stress is proportional to density
(d) 39ded & A U o A€/ None of the above
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18.

20.

21.

22.

23.

24,

25.

Ao ———— 1 Tt F T Had SRTET 3 I8 3TN
Anodizing is the most commonly applied surface treatment for the alloys of

(a) zEuTda/Steel (b) tfafFEa/ Aluminium
(c) Ta/Nickel (d)  3TEFa A AU sl A/ None of these

gan feufy wegar @ afafafecs fFar srar el
Positional tolerance is represented by

@ O3] ® |03
(c) ~$ 0.3 (d) O Oa

U BAfEed FsiEE adeT SUEROT & AU e ¢ 3 araies 0.25 1 af s af @y e o St & ar seeer
T — =M '

For a cemented carbide turning tool, Tailor’s tool life exponent is 0.25. If the cutting speed is
halved, the tool life will increase by

(a) ®relg I/ Sixteen times (b) 31 7=1/Eight times

(c) e IEN/Ten times (d) °r I=1/Four times

TAT HaTr g1 T arg e & fore Faifires arg A gafar ————————— & U gl

For the same maximum pressure and heat input, the maximum air standard efficiency is for
(a) 3ATa-==H/Otto cycle (b)  SNA-"sh/Diesel cycle

(c) <gad e 9s/Dual combustion cycle (d) 39w T § T i 81 /None of the above

o I Fr 10 F, 7 S & 0 Rt e W srer s § 31k 39 dug & a1 g 3 2.5 # i Furs o 3o S
€1 915 T Tag & o1 & TegaeUTT 0T gl

A ball is dropped from a height of 10 m on a smooth floor and after the impact the ball bounces to a
height of 2.5 m. The coefficient of restitution between the ball and the floor is

(@ 0.25 (b) 0.33 (c) 0.67 (dy 0.5

ﬁwﬁmﬁmﬂﬂﬁaﬁmﬁﬂﬂﬁaﬁﬁmmm EGEGIRGIG
When the state is being changed from gas to liquid through the process of condensation, the
temperature?

(a) oarg/increases (b)y  =Earg/decreases
(c) TR Igarg/remains constant (d) ST IT EeT ST Wehdll §/may increase or decrease
31 Fereliel IR & deheT HTE0T M 3 3refiet frw a1 v el 1o o7 W fataor gl
The maximum deflection of a cantilever beam subjected to a pure bending moment M at its free end is
ML2 ML2 ML2 ML?
@ ToeE ®) e © @ &
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26.

27.

28.

29.

30.

31.

32.

n foier & FobeT Ua Teramiafer & fore arcatfore el i gear ————————— ¢
The number of instantaneous centres for a mechanism with n link is

y X

n LR

(a) (b) 5

(©) H(I;_l) @ n(n-1)

1T 33T @ | el Ueh gl TRV 9T & WY Helaidlel FASS & caloT &l -3 ord gedh gl

The Coriolis component of acceleration of a slider moving with velocity V on a link having angular
velocity w is

(@ Vo ) 2wV
2w Vo
e = @ =
5cd T TUT ———————— & 4T & T H e G&AT ol IR famar srar 31
Weber number is defined as the ratio of inertia force to
(a) == ga/Viscous force (b) TdE 919 ga/Surface tension force
(c) wearey aer/Elastic force (d) I%cq ga/Gravity force
SRUATH Hiel AT & ATl €RT aieT-89 & e 71T & 3yt At ———————— Fga
The ratio of RMS value to the average value of an alternating current waveform is called
(@) fr@xacs/Peak factor (b) ufea ges/Power factor
(¢) wageH/Form factor (d)  3udFa # 4 v s aigi/None of the above

el e o1 31T Seeh Q1 o7 31 o 3971 & 331TRiens 1 i ATel gl AT &1 31 O 1 3117 & 531 @ v &1 oY | Ry
r 3mg gl

Age of a father is 3 more than 3 times his son's age. Five years before age of father was one less
than 5 times his son's age. Age of father is

(@ 39 (b) 12

) 75 (d) 61

Scamafafa & A9 ¥ G W@dT ¢

Pyrometry deals with the measurement of

(a) 3==Ia dgAE/Elevated temperature (b) gara/Shocks

(c) 3mgar/Humidity (d)  emi/Current

el WAl ——————— Y ag B

Endurance limit is associated with

(a) fa#rea/Torsion (b) danet/Bending

(c) 39wgur/Shear (d)  =ifa/Fatigue
T 1367



33,

34.

35

36.

37.

38.

aﬁwﬁM,meWkﬁgﬁwﬁmem%ﬁwmﬁmﬁﬁmﬁ?
gl

If a mass M oscillates on a spring having mass m and stiffness k, then the natural frequency of the
system is

K k

@ 5 (b) =
K K
(©) /m @ v
areafas aefd (g) Fur sehfay sl (e) FTH T ———— B
Relation between True Strain (g) and Engineering strain (e)is
(@ e=In(etl) () e=In(etl)
_ i .. 3

© T R

TR Tt & & ler-aT AT ausT fig T Fee HaT 52

Which of the following materials generally exhibits a yield point?

(a) @orar argr/Cast Iron

(b) 3T vd acd dfeerd HSquH/Annealed and hot rolled mild steel
(c) % diaa/Soft Brass

(d) @ra/Glass

Soci A1 deae AT ———————— W EIGIKd!
Electron Beam Welding is generally carried out at

(a) fAa@/Vacuum

(b) o= argae/Low temperature

(c) fpgTeTH # AT/ Submerged in Inert media

(d) fiaRor o 30 s wer/Does not depend on environment

farelt gear a1 (2, -3), ¥, S A T e g (3, 2), %, gudy s i 1 e gl
Centre of a circle is (2, =3), one end point of a diameter is (-3, 2), the coordinate of the other end
point is

@ 7.8 ® (738
(C) (7: _8) (d) (_79 -8)
m@mﬂkﬁgﬁaﬁdﬂdpﬁﬁ%ﬂﬁﬁww———aﬁl
When two springs with stiffness k are in series, their equivalent stiffness will be
@@ Kk? ) 2k

k 1

— d —_—
() 2 (d) "
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39.

40.

41.

42.

43.

44.

45.

FEf gh AT gEa ———&1(Ty, > Ty)
The efficiency of the Carnot cycle is (T; > T,)

(a) i— b 1 —;—j
() .f— @ 1 +};—
18/8 SFRIY §4Td ——— Haleted & o ST ST 38 Y HAe e 81

18/8 stainless steel refers to stainless steel grade with composition

(@) 18% wifaga aur 8% er/18% Chromium and 8% Nickel
(b)  18% fo¥aher @am 8% wfAwa/18% Nickel and 8% Chromium
(c) 18% dafzasr aam 8% H1fAwA/18% Vanadium and 8% Chromium
(d)  18% wifFgs qur 8% dAf2w#/18% Chromium and 8% Vanadium

TS &AM YN ot HrAifead HAarl gehl-Ar JaAfET et JOIe & T 317a1g X aef & Reriaer 7 e
T JraET IRgdr ————————— ¢

For a lightly damped vibrating system executing steady state forced vibration, the phase lag of
displacement with respect to force at resonance is

(@ 270° b)  90° €  45° d 0°

HIA-Hr AT A F5A= awRorefear & sdr § (k- areenar, p -g+tca, C,, —faRvse 3w, p -a1fas egreran?
The thermal diffusivity is given by the expression [k — thermal conductivity, p — density, Cp — specific
heat capacity, p — dynamic viscocity]:

uc k
@ L2 O e
©) p%p (d) €T

Ueh 91 forerent ured “a’ § & faeol & 8 Sgea et @ g
What is the moment of inertia of a square of side ‘a’ about one of its diagonals?

4 4

a a
@ = b

at a4
© 3 @ o
U 3T 3re-3Mel & Tt T o8I BTl 3 S T 3T ———— & AT F 3T Broar & wefta ¥
The ratio of volume to surface area of a solid semi sphere is related to its radius through
@ 2/9 () 1/6 )  4/9 d 1/9
98x98+2x100x2—-—4 ——¢lfis
(@ 1921196 (b) 19604 (c) 10000 (d) 48412
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46.

47.

48.

49.

50.

51.

éﬂélﬁgﬁ?ﬂﬂﬁﬁ@?ﬂﬁﬁd@,ﬁ?ﬁﬁﬂﬁ%ﬂﬁﬁ%ﬁ@ﬁ%ﬁéﬁ————%l
The centre of percussion of a homogeneous uniform rod of length 1, pivoted at one end, from the
pivot is

V3 2

(a) 'E'l (b) m |
1

(© ! @ V2l
T FdeT 3UHTOT F ITaad 1o FHITI —————————— gRafad arargl
Relief angle in a cutting tool generally varies from
(@) 1° Wto2° aF by 2°W/to4° a=F
) 5°@fto 15° a= d  15°@/to 25°aw
ST T & o3 THT A 3R g HTAT ST 1
In Lewis equation for bending stress, gear tooth is considered as
(a) w¥e gafd¥a/Simply supported (b)  F=dreiaR fiaA/Cantilever beam
(c) afpad=/Curved beam (d) SHEFIAATH sfr 7&7/None of the above

et oy Ty & P 37elTT R & 3refieT oA ST B Trefaf@a & & Hle-a1 FU 9 &2
A uniform straight rod is subjected to axial load. Which of the following statement is correct?

(a) wmmﬁﬁ%mqﬁwﬁﬁam%l

It induces maximum shear stress on the transverse plane
(b) EEFaETF45° TR T JeT 9 HaiTiE A faee SR #arg|

It induces maximum normal stress on the plane inclined at 45° to axis of rod
(c) GEsFIETF45° o et el O e 3o Sfeieer IR FA 8

It induces maximum shear stress on the plane inclined at 45° to axis of rod
(d) €3 3 a7 T A FoRell ot ToT QWWWWW%I

It induces zero shear stress on any plane inclined to axis of rod

ofg swegara G/E = 0.4 %mwﬁa@mﬁ——d—M| (G = Tgar #dish, E = a1 &7 J01H)

If the ratio G/E = 0.4, the Poisson’s ratio will be : (G = Rigidity Modulus, E = Youngs Modulus)
@ 02 ®) 025 © 03 @ 0.33

errer FARAT TRE —————— T ST FAT T

Rockwell hardness test uses

(a) &aXe o ddRre $raews/Depth of penetration of indenter
(b) ETRUTH S grawer/Surface area of indentation

(c) e & wifered &/Proj ected area of indentation

(d) wfae $r Fars/Height of rebound

10 1367



arg wRitae gomell ————— W gaifed 21
Alir refrigeration system operates on

(@) @t aw/Carnot cycle (b) 3ehiAd #1aT gs/Reversed carnot cycle
(c) ¥ gw/Rankine cycle (d) & Fiedet aw/Bell Coleman cycle

12, 18, 24 s vadiv —————

HCF of 12, 18, 24 is

@ 6 b 12

() 2 d 18

In a beam, point of contra flexure is where

(@) 3r9%qUTad =4 g/Shear Force is zero

(b)  3URYUT g WA &/Shear Force is maximum

(c) et 3V Y= §/Bending moment is zero

(d)  dehet 3TgT waTfEe® §/Bending moment is maximum

feralt stier after & Forelt oft W oY St 3TTHDT 3TE &1 TalTet F R EIAT &
The slope of Bending moment diagram at any section of a loaded beam equals,

(@) & & waraes 379w se/Maximum shear force in the beam

(b)  3H&H & g s 3meel/Maximum bending moment on the beam
(c) 3W W3 & HUHUOT g T Maar/Intensity of shear force at that section
(d) 3udFd F & U o 761/ None of the above

@ 717 378N F0T ¥7 § FANT vwaAe 9 F T, 99 95§ e 7 § a9, F1 3@ F2 § A A
B gl

For the centrally supported uniform beam as shown the values of F1 and F2, when the beam is in
equilibrium, are respectively

F1 1 l F2
3m 7m

v
F

S5kN

@ 3.5kN, 1.SkN )  15kN,3.5kN
© 2.5kN,2.5kN (d)  7kN,3kN
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58.

59.

60.

61.

50 fram s A sl aedr &1 0.5 m/s”. (g = 10 m/s”) & UaaH1T caxor & A FeaTer €9 § FT I ST ¥ 3
TEAT & d=A1a & 9Reere SIfa|

A bucket of water of 50 kg is lifted vertically upwards with a uniform acceleration of 0.5 m/s%.
(g=10 m/sz). Calculate the tension in the rope?

(@) 525N (b) 475N ) 25N (d 525N
e Fo51aT & (T e ST faed annes fergmameran €1 fvist ot favam ot & e o i ————————— 3
A force vs extension graph of a spring is as shown. The work done in extending the spring is
Force, N
{0,0} 100
Extension, mm

(a) 10kJ (b) 57
(c) 5000KkJ (d 5007
HIETE Fell & Ui T &a & GTaRIe &7 ATge 380 ——— @R a1 SIam &1
A measure of the resistance of a liquid to shearing forces is given by its
(@) wsica/Density (b) <A/ Viscosity
(c) wiarersar/Resistivity (d)  feFarSolubility
AT ————————— & faT T Srstarar e F5AT 3TaR 7

Annealing is a heat treatment carried out to

(a) uer FOR qur wHigd a=/Harden and toughen the material
(b)  @TeeT T 37er serey/Increase carbon content

(c) dwgar ger-wuridd/Restore ductility

(d) wurE@er/Induction harden

HAFHAT GhR & STt TS & FIFC TS &l 3T & fore e glar 8|
The use of Draft tube in a reaction type water turbine helps to

(a) arg &I ETSA H YU = § Vahat/Prevents air from entering turbine

(b) warg g¥ ge/Increase flow rate

(c) & Far @l aifas a1 i aRafda s/Convert Kinetic energy to pressure energy
(d) SR 37evare Ushat/Prevent eddies downstream
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62.

63.

64.

65.

66.

67.

T 31 &1 9.8 m/s & 397 o A1 FeaTer w9 ¥ el e R smar g Nﬁwu@aﬁ%ﬁvdaw ZaRT ToIT ST arer 939

gl
A ball is projected up vertically with a velocity of 9.8 m/s. The time it takes to reach the ground is
(@ 0.5a/s (b) 4315
(c) 2%/s (d) 9.8 /s

Ue JE] &1 HR I H 60N 41 57ef 3 qoiaar Rsee gl o 55N &1 sae [frse geca

An object weighs 60N in air and 55N when fully submerged in water, its specific gravity is

(@ 12 by 1 (c) 6 (dy 2

TH p-n @R sEE A —— ¥
A p-n junction diode has -
(@) o=t 31 qur 3= 359 3ehH 9fait/Low forward and high reverse resistance
(b) 3{f@% V-1 31ffieretor/Non linear V-I characteristics
(c) dieedi e - 3 Aiced] T Ug= o sigd (=T 3701 oy /
Very low forward current till forward voltage reaches cut in voltage
(d) 3w gsfi/All of the above

T 9ol 318 & HR-UK dleedl ———————— &

The voltage across a zener diode is

(a) 37131 fgem # Rer/Constant in forward direction
(b)  3HH f&em 7 faR/Constant in reverse direction

(c) 31T Tur 3ohA e g1 & RR/Constant in both forward and reverse direction
(d) 39dFa & 4 T 37 7€/ None of the above

gl Ao ——————— A fAfFT g &

Seamless tubes are made by

(@) aueA/Piercing (b)  3mr3carvr/Forward extrusion
(c) dddeat/Hot rolling (d)  sWur/Drawing
&1 giare § Pefeae

Steradian is the SI unit of

(@) @A HoT/Planar angle

(b) =T =/Solid angle

(c) fordlrgeT A pi/4 & 3iaRa ®o1/Angle subtended by pi/4 in a circle
(d) 39w H A U o 76/ None of the above
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68.

69.

70.

71,

72.

73.

74.

ww%m@aﬁqﬁmﬁﬁsoaﬁwwfﬂmﬁwaﬁﬁwg@qﬁ gl
In a simple Gear Train, Driver has 50 teeth and Follower has 30 teeth. Movement ratio is

@ 0.6 ()  1.67

() 20 (d) 80

TS Ueh el T 3TaTTHT 379l & aF 36 GINT aaiel U TR F —— Fg ¥
The angle turned through by a cam whilst its follower is stationary is called

(a) ara#vr/Pressure angle (b) A aﬁiﬁm/Angle of Lap
(c) @ ®T/Dwell angle (d)  =vorar/Friction angle

el T Hiehe T ————— & U 3G &1

Ball and Socket Joint is an example for

(@)  ImeiT go=r/Spherical pair (b)  de= g7A/Rolling pair

(c) ade g7A/Turning pair (d) 3% 7 ¥ v s 7€/ None of the above
Te[eT aryg o forw 3mafare 3mdar (Yo #) g

For Saturated air, relative humidity (in %) will be

(@ 0 (b)y 100

(¢ 50 * @ 99

VAT fEserg fr AA 2xxx S@et 1 7E Acad ded ————— ¥

The major alloying element of AA 2xxx series of Aluminium alloy is

(a) Mn : (b) Cu

() Si d) Zn

vafAfeaE i e #Eea —————————— 8
Crystal structure of Aluminium is

(a) Mo &iga-/Body Centered Cubic (b) W weshIvia/Simple Hexagonal
() FEuAT Hfid-/Face-centered Cubic () et Arof/Simple Trigonal

Teh T o1 ST ST T 10 x 20 mm 3 s 1 m R 38 T T T I
EX:enhd

A column has a rectangular cross-section of 10 x 20 mm and a length of 1 m. The slenderness ratio

of the column is closed to

@ 200 (b) 346 © 477 d 1000
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75.

76.

Pt

78.

79.

80.

HIYROT AT S8 ARG —————— &l Toh TIhd TT &
Common jet fuel is usually a refined form of

(@) Srera/Diesel (b) gsaeie/Hydrazine

(c) f&HErs da/Kerosene (d) Tehtgtar/Alcohol

eafet el &1 a1fd arg T Jefeln # erfeash gers A gl

The speed of sound waves in metallic material compared to that in air is

(@) 3 aar/Faster (b) 3w dief/Slower

(c) THA/Same (d)  39gFT A AT sl a1/ None of the above

oS L a2 3aR=oe 81T A § I 13 UH A g5 Hafid dard P & 37eflT 1 o gl el ———— R
(E-zir &7 7[0TieR)

A uniform bar of length L and cross-sectional area A is under axial tension P. The strain energy
stored is (E-Young’s modulus)

@ 3= 0 =
© == @ 3
=arr D, FIeré t & Toref Ieell Gariarel SoAie 91 & g P & 3reiiet IR efeed wiade ————— &

The longitudinal stress induced in a thin walled cylindrical vessel of diameter D, thickness t, under
pressure P is

D PD
@ - B =
PD PD
i« % | @ -
X & HIU 7 COSX & ot — 8
Derivative of cosx with respect to x 1s
(@) —sinx (b) sinx
(c) secx (d) tanx

efaETeh FHEERT X2 — 4x + 4 = 0 FHA P uHia

Nature of the roots of the quadratic equation x* — 4x + 4 = 0
(@) 3=d/infinite ’

(b) 3%t areafass He/two distinct real roots

(c) &R adfdes Fqel/two equal real roots

(d) arsifee #qe/two complex roots

15 1367



